7 @764
Reasoning Ability {51
3 0.164x9x3x 6= 6493 and 2 x 8 x1x 6= 8281, than 3 x.
L Find the missing number from the given responses: x5x7=
3,8, 23, 68,2037 (23875 (©)7385
@sio )967 o ©373 (3578
(0608 (@081 g (e)4563
e " Dirsction, (Qs 11-16) n i ype of uestions o words are
oy S g Thee related to each other in some way. The

@ 9163 ) 6391 E
o o I
(92302 %

i 11 b ?
mintheyvmldtnwn—nhll - sl
nmmn_mmnn_mnnm (@noon
@nnmm (b)n mnm
©mnnm @nmmn
@mn mm - H iy e

4 Which one set of letters when sequentially placed atthe o
§apein the given eier eies hal complte 7 ) Erenite,
bba _aab _aa_ abba_

e s 1. DRIVEN  EIDRYN s
@ () aabaa
(©)bbasb (@) BGMUE
Il-mm 1@; 5-10) comprises of -ms in
correctterm s give, i

B o e e e o i

5.17,27, 39, 53, 68, 87, 107
@3 )87
©6 @z 6383
g @ 10,65

6.7, 56, 504, 5040, 55440, 665150, 5648640
(@ 55440 [FETI— e
{c: 76663230 (d) 5040 o ® 6,810

7.4.2,9,3,18,4,25 ] @2,25,27
@9 ®)2 Dneqimu_ (17 ZI)Moﬂ}tﬁw prblem figures drawn below
(916 (@4
©2

8.5, 20, 60, 240, 620, 2850, 8640 Belong to the group is your ansuwer.

(2)2880 60 1.
©20 @720

(8640
9.1f5x3x9=395and 9 x 7 x 5= 759, than 7 x 6 x 4= 2
@674 76




29. I INDUS is coded as 03865 and TENNIS is coded as
243305 then how can STDENT be coded?

(2) 5268243 () 52684
o ot (A 56452332
(€) 5235288
‘mst stands for sweet flower fragrance and mt scol
mp stands for sweet than smile what would fragrance
stand for?
@rho b)mst
©tmp. @sco
(osc
R itnae
gresninae hoiap means reen rand white s e o
ka means shirt is white. Which of the following
) language ?
o 5 o e g s e Gem
iollowmg by four/five atematives out of which one is (1,
32.In a certain language, pre nat bis means smoking is
‘harmful, vog dor nat means avoid harmful habit, and
(@ Sword (b) Dagger dor bis yel means please avoid dsmning Whicho the
(©FRifle (@Knife following means habit in tha
(@Saw @vog G
3 ©) dor. (@bis
(@ Violin (®) Veena (€) None of these:
(©Sitar 5 g p
(@ Tabla sequence in the Problem Figure ?
2
(@) Kerala () Karnataka
(©) Andhea @ Jammu I
©Goa
25,
(@) Plant (o) Root
(©Stem (@ Leaf
(© Flower
26. Out o the five numbers given el there arealike
ins cetainway but o s iferen the one
which s different from the rest three.
@136 o
(©321 (@514
(@145
7 fcodefor AVPLE is BOQME'then wht will becode
for 'SCHOO!
@ TDIPPN @ TOIP)
(© TDIPOM (@ TDIOPM
O TOPPMI
2.1FBRO »
actual word for DYRFCP
(@ SISTER (®) FATHER
(©) MOTHER () NEIGHBOUR

() BROTHER




35, Which of the Answer Figures belongs in neither
group?

36 Which of the Answer Figures fits the missing space
in the Question Figure -
ant

Direction 37-40. Which one of the giver respofie toould be a

meaningful rder of the ollowing.

37 1.Thread 2.Cotton 3.Soil Cloth 4.Cloth 5.Rag
6. Plant

@321465 (©)362145
©263154 (123654
(©254316

38 1Yam 2Sowing 3.Cotton4Fertilizer 5.Cloth
6.Seed

(@426315 (0)462135
(416352 (@)624315
(©461532

2.Books 3.Examination 4. Student

©)42135
(@23145

2Doctor 3Disase 4. Student

@)82315 (©)24351
©4325/ (@42351
©25341

1-50): i b
and answer the questions given below it. Certain words are

the questions.

andhi never rged anyone weallhof power. He
Gaught a sefof valles thal might make happiness less dependent
on material possessions. *As Tong as you desire inner help and

Otherwise, he said, you might renounce & worldly assetina mood
e or out of a stern sense of duty but want it back
‘and suffer, "Only give up  thing’ he wrote, “when you wan some

for you,or when it seems (o interfere with that which more greatly

desined s spri,afonily might give up iving inacity and

seside i communion with nature, or a man might relinquish

govemment office 1 busiiess o be his own aster, do his own.

work and grow.

“Iwhole-heartedly dctest, Gandhi déclared, ‘this mad desire:
i 5 e

None of

{his i aking th worlda siep narer s gl
When(old him in 1946 that he ought o g0 o the west and

{esch his doctrine, he repled, “why does the west need me 10

{each them that twotimes two are fout ?” His preoccupation was

{hat the westem world knew the truth buf, being enslaved to

{hings, would ot ise o the efence of prnciples o hs involved
ko1 job, publ Tsafety

orlife. i himeef paid fo hisprincipls by going 0 il by inviting
deaih, by courting poverty-and it made him in the coin of the
spirit which was the only currency he valued.

‘Gandhi is known for his successful effots o liberate India

‘more important than the feeling of India. Most of Gandhi’s

but with il the usual attributes of Nationhood. For them. National

et \d a better life. s
with doubts whether these purposes would be furthered by the
“maniner in which independence was achieved—two blecding
hedid

celebrate on August 15, 1947. The day the Indian Nation came
{ato his own world, he was sad and refuscd congratulations.
Gandhi was a mationalist, he loved India. but he Was 1o
Indomaniac, he said he would not hurt England to elp India. All
the years he fought British-Boer racial discrimination in South

{he enemy. He wanted to understand them. The British in India



aste system: in liberating

were victims of their past and theis

(€) Gandhi never urged anyone to give up riches and
authorty

a - "
® iy Gandihi though, England would be considered
0,5 Gtk mipome Yo T NP b e < jnation by liberating I
{3, Couh] e SRR @) In liberating ndia. Gandhi though, he was also
authori . e,
e e Tty o et freeing England for anew fut
© Ganai @
s physical things ? (@ Only (1)
happines s dependent on 2 @
D -Only v up s g, e v, “en youvans ® Both()asd @)
,mnmmmm.mmmmgmumg« © Only)
s st e s @ Allhehree (1, 2)and )
il i whh s ore sl Gt 1 s s © NoRorueh
' @ ciizenof ndia
et e s oun o P
@ Heamounce, e ety dots, i mad © Indomasiac
destroy distance and time, o increase animal (@) leader of India
i ©
A
neatris gl Gandhi?
Inian poet Ravindranath Tagor () They were Gandhian inpolitca maters.
Of Gandhi, “He willnot succeed. Peshaps he il o @
@
{0 thci objectives.
5 5

(@ Both (1)and 2)
) Only (3

(© Both 2)and 3)

(®) Allthe three (1), 2) and 3)
(© Both (2)and (3)
@ Only@)

(©) None of these: 3
a8

@0nly2)
(&) None of these.
ol him to
in the passage ?

(@ Why should I g0 o the west to teach them 2

® Why does the west need me o teach them
0 and two make four

(©) Who does not know, two and two are four 7

(@ The westem people know verything.

(© None of these.

(@ Britsh Boes racial discrimination in South Africa and
Britsh imperialism in India

prevailing in India

passage?

15th. th August, 194725

@
India

am-_.-n..ﬁ.rm

® was na helo buthe
Indomaniac

(© Most of Gandhi's ln]lowerx in ndi were not
‘Gandhians and did not share:

@ intaes v hhcny ofIndia but
inhelping the Britons

S y

@ w-uw:m the first Prime Minister

€ Neme of hese.



‘Why did Gandhi not dislike British imperialists strongly

and rebuke them ?

(@ He did not suppose them wrong

(b) He wanted to understand them

(©) He was kind enought to th,

(@ He wasa man of scienific

(e) None of these.

(Q. 51-53): Choose the word which s MOST

NEARLY the SAME in MEANING as the word given m—

&

R

ssed in the passage.
. 5L
(@) leave (b) disown
- ©thow @ rid
1 (@) east
2.
@ grow ) develop
© greaer ©) enlarge u-.u
(e) enhance
s ———
(@) accord (b) commit
- @ agreed.

Directions—(Q. 54-55): choose the word
" OPPOSITE IN MEANING of the word given in
s pussage .
S4. atributes
(@ non-assgnmens () degradaion
(c) disqualifications (d) distributes
© viees

59. The weather exhausted (a)body’s energy because of
which (b)the Jawans can die of (c¥small injuris or be:
i et e Bt )

by, empires rose and fell and as the.

i bood (oot e gy iogha dni
‘away, (b)/chamba passed under the supremacy (6o the
e ‘Shah Duraniin 1752 (@) No

l)lum-n.—(u. 61-65): Whichof the phrases @. 9, €

the following sentences 1o make the sentence m.........mn.
correct ? If the sentence is correct at i is and there is No
Correction required mark (¢) Le. "No Correction Required" as

the answer
61, Butto the rest, economic constraint is e most powerful
‘motivator for asmall family.

(©) No Correction Required
o Muslim, it s the culmination of humanity s religious
quest.

(@) OfaMuslim
(®) FromaMuslim

@ simi () cquiibcum (@) during the examination days
L © cquliy @ imbalance (© NoCorrction Required
(© balanced 64, But when we it the LT.O. crosing, we ound a stream of
irections—(Q. 56-60): Read each sentences o find owt ‘vehicles standing i fus.
whether there is any grammaical eror n it. The error, i amy. O
will be in one part o the sentence. The ltter of that part i the e ot
answer. If there s no ermor. the answer is (E) ie. ‘No Brmor’ ETire
grore the errors of puncruation, if ).
56. In last fifty years, there always have been disputesta¥ 2 e o of
regarding the numbers of ©
: 6 "
NoEror(e) 49 years
§7. Am] doing something (a)which disrespects (b)or violated (@ ups and downs
some other (cVereature’s right 0 live and lve freely(@). ® down and up
o rme(c) (©) upper and lower.
58, By words, expression and a)/ B o

‘communication (bYone can.
fluence the minds of others (¢} and leave lasting
impressions (d).No Ermor (¢)



s 0.0
" . One of them maybe-wronglyspels o inppropeicie i

Ipes, the answer is (¢) .e. “All Correet”..
6. 1t i seen that continoous (s disappearance (b) of the.
forests (c)/isindeed given (d). All Comreet (€)

7. Forests (a) are being cut for givin place (o producing.
€7 oo e ctblshin (e Bctories @), ATICoret©)

Pasthers, clephans,lions,snakes, whales (a). crocodiles

‘out the demands of fashion crazy people (d)/- All
Comect(©)

blanks each of which has been mumbered. These mumbers are

prinied below the passage. and against each. five words are
el Find out the

ots of 1984, i
the tragle memory of

M. Indi
the nation (d). All Correct ().

. When I was sitting (a)/ with my eyes closed/ (b) I
was reminded (c)/ of Arjun’s request to Lord Krishna
(@ All Cmsl(el

750 Reamange the olloving SLX

appr
1found it very
-.T7).

6. when Lsaw a N s
Rs. 200/ from American tourist

istance ofjust S kms.

offered o have an exchange
ol hitm about ..(1994)... education system here, b ..(80)...us
o

Directions—(Q.
sentences (1), (2. (3). T
Jorm a meaningfil paragraph then answer the questions gven
below them.

sexes. He was very keen to know more on gandhian thought and
ritualism. iscussi i
We

drk.
2. Coolers, refigerators, TV's. etc. must be switched off when

also talked on American English and slangs. It was rawarding

they are not used. 76. (@) disgraceful (b) iitating
% Forexample, we must swich it off i he oo from which g -~ L
we come out. (©) insulting’
4. So, we must use it when it s necessary and unavoidable. 77 @ e (®) thar
5. All perhaps know that electicity saved is electrcity pig igha
produced. (©
6 At the same time. T would ke (0 add that we mustcheck 7 @) Keas Clilestnez
the misuse of electricity in every way. (©) views (@ thinking
” the following In he FIFTH sentence ater o, (©) 008" .
rearrangement ? -
@1 ® 3 (© their @a
©4 ®s - o
©6 S fniroduce
72 Vot i b e SEXTH e s @ oo
rearrangement ?
@1 ® 2 Z
©3 @4 » Quantitative Aptitude
©6 " am comsins lsbol i water i the o 43
73, Which of the folowing is the , the
rearrangement ?  becomes &5 Find the quantity of alcohol nm..pm-
@1 ® 2 ot
Py @' g :l.m £ 0Liers
© 5 () 22Liters



82 1£075:x::58, then xis equal to:
@ 112 (©) 116
© 120 (d) 130

A discount dealer professes to sell his goods at cost
price but uses a weight of 960 gms for a kg weight.
Find his gain %7

() 15%.

e None of these

_ @0% @10% o U

2

© 118 @14% ®17%
Itwas calculated that 75 men could completeapiece  (023% @%2%
of work in 20 daysWhen work was scheduled to _ (¢) Noneofthese ) ’ -
commen: 2. and its square s 182, what is
- Sy How much longer will ke o (he pumber?
complete the work @13 ©)2
@20 )30, ©52 @9
©40 (D19, 10 muni— @ .
(@) None of these: - . Three times the first of three consecutive odd integers
multiply by 32 Calculate the ge of e @n ®15
Bhrecar. | ol @
©)

Twenty times a positive integer s less than its square
by 96. Whatis the integer?

@20 )22

(©24 @2

been a gain of 5%.what was the cost
(@ 290

(€)400
(€ None of these

o -
Ananicle s soldtcstain i .,...#:
(b)57%. "

)
A man has some hens and cows. If the number of
heads be 48 and the number of feet equals 140, then
the number of hens will be:

a pw..n.nm. of €20, which s ool al e e

- Find the average of all pr
and 507

(920,05
(&) None of these

Rs 3. What was his percentage profit?
(.y 56% ()7.12%
©9%% ()a5%

() None of these

#9. Sachin purchase 20 dozens of toys. nm‘dﬂl
perdozen. He sold each one of them at the rate of

£

90. 1 Ra-10 be allowed as true discount on  bill of R,

® Sl two ilages e equal?
262 )
12 37 7? f:: 3;3?43 SN (a) 22 years (b) 16 years
(@) None of these 9 (© 13years (@7 years
P (€) 11 years
n 3
B O iy e notey, fiverupee notey and femrupee noles The

notes o ination is equal. What
8 i g o otes hat he b
)60

©75 @9

ity five percent of a number is 21 less than four fifth
of that number. What is the number ?

@9% ®) 140

©220 @175

(b) Rs 24.19
(d)Rs.776

(&) None of these.

allowed on the same sum d\u at the end of double

In an election between two candidates, 75% of the
‘voters cast their votes, out of which 2% of the ok
were declared invalid. A candidate

‘which were75% o hetota valid voie Finthe vt
number of votes enrolled in that election.



@90 (6) 15680 (2)45min (b) 60 min
©) 16800 @) 15000 ©75min (@34min
(e)Noneof these (6)Noneof these
00. jonbet by1s%and 109, i
e o e diminiohed by %, the value of - of kiph and 5:Skamph respectively. What time will
fon s 15716 g y i they walki
@5/ ®72 direction?
©8/3 @92 @17hrs ®)25hes
(ONneotthe ©31hrs @45hrs
101, A mixture sicoholand wtecinhe o, (@351
1 liters u waic s added 10 " 555, whichis
- ; @2 ®2%
@08 Liters () 10Liters e B
(@ 2Liters e
111, When a shop keeper sold 2/3 of an item, he got the
thenxis equal to cost price of the whole lot. What s the percentage of
®)116 el
s © /%

10516 Re.782 be divided ntothee parts, proportional to
1/2:2/3:314, then the

(3) Rs.182 (b) Rs.190
() Rs. 196 (d) Rs.204
(¢) Rs. 305

104, Two numbers are in the ratio of 15:11. If their HL(OF.
i513, find the numbers.

(a) 122 and 80 ()87
(91195 and 143 (4)101 and 123
(@) Noneof th

e, of two numbers is 11 and their L(c)M. is
£ one of the numbers is 77,find the ofher.

ind the greatest possible length which can be used
1o measure exactly the lengths 4 m 95 cm, 9 m and 16

mes

(@45cm ()57 cm
(63cm (@%em
(@3em

107. Walking at the rate of 4kmph a man cover certain
distance in 2hr 45 min. Running at a speed of 165

® 662/3%
@ 50%

{6 Noneot e
112. The perimeler of a rectangular field is 480 meters and
the ratio between the length and breadth s 53. The
of the field is:
@ 7200m? () 15000 m?
(© 54000 m? @ 13500 m?
© 1150 m?

113. If you add 100 to a certain number, the result will be
more than, if you multiply that number by 1000 what
number?

@15 ©® 10
©25 @20
@35
neA ire 40 % marks to pass. He g

student has to
P il by 30 marks. What is g
‘marks?

(@) 400 ® 500
(© 475 (@) 450
@345

115, The circumeentze of an obtuse trangle will always be

(@) Interior of the triangle

(@12 min (b)25min
() 40min () 60min
(e)33min

" 108. A train covers a distance in 50 min, if it runs ata speed.
of 4skmph on an average. The specd at which the train.
‘must run to reduce the time of journey to 40min will
be.

(© Exterior of the triangle
(@) Madpoint of the side of the triangle
(@) Naneof these:

116, What is the degree measure of a semicircle?
(@ 360 ® 90

e @ 180
@5



7.

" of the medians steiacgler ® Smal
@ Circumceni Conirod &) U Covpetsivs s
© Othenter @ Incemre (0 Prvaenk
(@ Choice (2) an © Foreign Banks
218, The height of a cone nd it base diameterarcaual. 125, As published in major newspapers public sector
@3r ® dr more funds for‘Capital Infusion’. How much is the
Qs @ 3 - e of PSB cllectivey ot the putpose ? K. n
xnmmnofrwo spheres are mlhui-n*i m m, 10,000 ©) Rs. 15000
| e~ & © Rs. 20,000 @ Rs. 25000
o @ B30t G R om0
oy & 126 Whoamongstthe following has purchased about 200
20, Wha s the common il of e ,.,,,.%‘  tome o gold from Inemaional Moncary Fund
= cture Finance Company Ltd.
((:;i &3 phoa 5 Stock Exchange of India
©7 as ‘Gold Council of India

I/ T
General Awareness - ) None of these:
S i jor empl

) Reserve Bank of India

is of Basel I1 is that banks

should ha

el 3

mployces. The

ve—
ate Capital Adequacy Ratio
ly

Mo 1

:
l
}m
certain new rules to calculate Income Taxon sastes
given by

which has been abolished now 2.
(@) Capital Gains Tax 4

(€) Noneof these
220K

JEAS per e reorts p

\g mode of operation.

1) Alliheabove o comply with Base Il norms

od by varlous agencies/

estimated that around 3 billion
ool witkjoste our existing population of 6 billion
by the year-2050. To provide food for all of them, a

st s 4

@) Electronics Commissi
() Indian Space Research Organisation
{9 At rersyCoinison o

required to be started much in advance ?
(@) Green Revolution

() Planned Urbanisation

©

R o el Tar
123. As per the guidelines issued by the RBI, banks are

(@ Climate Migration
(© Allofthese

g is the President of the

ipto Rs. 1
notified shops/stores 21 ove the counENE

(a) Catherine Ashcn
0

Whatis full form asae 057

124. The working group set up by the RBI has suggested

© g ri Reinfeldt
() Mr. Sergi Lavrov
(@ Noneof these

and journals almost all big nations are trying their best
to resolve various disputes between the nations

e ty
‘banks. This scheme will help which of the following
types of banks 7

peace and stabil

y may be affected. Stability in



‘which of the following two nations is more vital to
India than that of any other nations ?

() Bangladesh and China

® Chinaand USA

‘Afghanistan
131. India’s bilateral per annum trade with European
i about—

(@) 50billion US$
() 100 billion US'$.
(© 200bilion US$

() 75billion US$
(d)150billion US'$

‘Asian Developmen
(a: lﬁ-rydAmlmn&m of ndia
(e) None.
Rt e
of il b o
(@) Gulf Countries
() USA and South American Nations
() European Union Nations
(d) Al these nations
(© None of these:
138. The Government of India s decided to disinvest s
How much

132 i
view that agriculture should adopt a ‘Cross
¢, and take!

Diécplskey Appeos p of all types of

in which
et lollnwln. crucial problems being faced by
humanit

(@) Use alCenencallyModAhed Crop

ofits share will be offleaded in this method ?

©) Mstingof i 13, The United Nations Development Fund for Woshen
el s working i an Indian city fo make
& e forwomen. Whichofthe following o et T
© Nomoliem @) Pune ® Kolkata
133, An agreement e atons o  growp of (9 Del @) Mumbai
‘which en.blllhn unimy © L
flow of goods and services besween/among wrode
@ Import Free Agreement in real terms ? s

®) Free r..dem

1. China does not import many items from India

:c) F)(POHPM
= ) N e, 2 cm.m-mpqlm-hmm.hudehy-
-‘Cmcmw, 7 India wants all payments o be made in US Dollars
2. Providing loans to establish . @ °"‘Y‘ ®
unitwhichca proce carbon sk i ::; Ouly 3y e @ AlILZand3
3, Fmdmguutmmwb\umt-whd\unun d 141 India has signed an agreement on climate change
' )m&yd green house gas £ z:)_usa -u.u-n..u-m.m,y
(@) Only3 Only2
© On]yl‘ (d) All1,2and3 }3 United Kingdom u) Aum-u-
(¢) Noneol
135. As per variou dother 142 Some Scientists are of the opinion that extra
agricultural production should be achieved without

5 ued by the
wond bodies, sgicultural and allied scsivitics

every year? About— causing damage t essential eco-system. This concept,
(@) 15 per cent ©) 30 per cent in other words, is known as—
(© 50 per cent (d) 70 per cent (@) Sustainable,
(€) 60 percent g Renewability of inputs
136, The Food and B FAO)isa
Qimate!
wing/agency of the— : :*-l



143. Mr. Z. E. A. Ben Ali has taken over as the President
of—

(@) Tunisia (®) Malaysia
(©) Indonesia (@ Kuwait
(e) None of

144, Which of the following is not a Government of India.
....am.un.

©) Irag

(@) Afghanistan

o fe) Ken

153 Which "5 the following countres objected.to the
Minister’s recent visit to Arunachal

Pradesh?
& Suig e Vndyut Nigam Ltd: _ (@ Pakistan ®) Nepal
(¢ ICICTBank (© Myanmar (@ Bhutan
(d) Namunmmpuwucmm-amm {©) Noneof these
1 = »
s lld ares its border with China along the  changeand/or Global Warming?
Himalayan rnge. Weich af the folllowing states  (a) Basel Norms
touchesthe borderof China ? ®) Bali Meet
(@) Punjab. &) Copenhagen Conference
&) Arunachal Padesh b Onatisgarn > @ Kyoto Protocol
(@) All of these: {© Bangkok Meet
‘GDP during 2011127 Hockey ?
(@ Spercent ® . 55percent (@) Baseline © st
(© Gpercent @  65percent Drop ) e Fori
B Norcoltoem Nore of these
. Which of the ad unchiedanew 156 Which of the following Cenetically Modified
skl nmmymm Initiate SR the Jles is recently being made available in India
employability of the young people can be increased ? ?
(@) Ministry of Finance (@) Carrot () Radish
(® Ministry of (© Brinjal (@ Potato
(© Ministry of Heavy Industry {e) Noneof these
(@ Ministry of Home Affa 157. Each Nobel Prize winner gets an amount of 10 million
Swedish—
(@) Keoner
(© Yen (@) Pound
©
458, Which of the following not a plant product ?
(@) Camphor ) Al
Vanilla (@ Kiwi

Myanmar
@ Malaysia

159. D Venkatraman Ramakrishnan s one of the

(c) Cambodia ipients of the Nobel Prize in the fi

(©) Thailand (2) Physics ® Chemiotry

‘What per cent of India's GDP is invested in providing (©) Medicine (@ Economics

education? @ Literature

@ 1percent © 25 160. i

© 4per (@ 6percent India has asked all the states to conduct a ‘Social
© Nmnrm ‘Audit’ of each and every work of which of the
hird argest produucer of Steel in the world. Whoisthe () National Rural Employment Guaraiitee Act
largest producer ? Fradhan Manti Gram Sadak Yoara

(@) UsA () Russia P (9 Indira Aawas Yojan

(© Japan (@) China ‘Gandhi Grameen Vidyutikaran Yojna

(@) None of these.

@
(@ Noneof these



. The computer can understand
-nt-v

Computer Knowledge & Marketing
Aptitude

and execute the

@) Systemsoftware  (b) Machine language

(c) Highlevel language (d) Low level language
(© Allofthese

Highlevel language ¢ was invented by-
(2) Neumann (b) Pascal

(© Dennis Ritchie - (d) Donald knuth
© BM

. Computer add and compare data in-

(a) Memory chip (®) Floppy

© U (@) Hard disk

© U

. The term memory applies to:
®

(@) Inputdevice ) control
Logic @ storage

(©) Outputdevice

165. A byte s compris
(a) fourbits. (b) 8bits.
© mb.«s (d) 32bites
(© 64b

166, 11 s partof central processSng unit:
(@) Keyboar (o) Mouse
© AU @ MICR
(@ OMR

167. A compiler:
(@) Produces object cod
©): Dol machine language into high level
(© Transiates onestatement ata time
(d) Translates tow statements ata time
(@) Decodes the language

168. Ahalf byte is known as:
@ Bit () Data
(© Nibble (@ Halfbyte
(@ None

169. VDU stands for:

170.

() Visual display unit

(®) Video display unit

(©) Video display universe.
(@) Visual depicting unit
(©) None o these

(@) Dotmatrix ®) Inkjet
(©) Daisy wheel @ Laser
(©) None
171, The computer as a machine and other equipments
related with it are termed as
@) Software ) hard ware
(@ Inputdevice (d) Output device
(e) Noneof there:
172, Adaisalan

(@) Hilghlevel programming language
(o) Automatic data processing
() Association of data processing.
(@) Low level language.
(e) None of these
173. Cisa
(@) Structural language
{b) Non procedural language.
() Procedural language
(@) Noneof these.

(© Allof these
174, CPU comprises:
(@) RAMandROM. - (b) ALU and RAM
(© ALUandCU' (@ RAMand CU
(@ Allofthese
175. Thelymboh—lhlhnyny-km
@ 01
© 00 (d) w
@12 =
176 m;...-—hmnummma.md..wm
@ mm () LOGO
(9 COMAL (@ ALCOL
(@) none of these:

177. The appropriate term for speed of CPU:
(@) Processingspeed (b Calculating speed
(©) Clock speed (d) None of these

(@) Allof these

178. 'l\n‘-hﬁ for connection of internet:
(a) Modem (b) Web browser
(© Website @ LAN
A Nepasithese

179, The hardware devices which are attached to
computer additionally:

(@) Extra devices () Peripherals

@ (d) Input devices.
{©) Noneof these




180, The first modern computer was in vented in:
(@) 1965 ® 1950
(@) 1946

(s) Passing an examination
m Elevation from one grade toanother

(© Noneofthese
Processing involves—
(@) Inputting datantoa computersystem
(b) Transforming input nto output
(©) Displayingoutputin a useful manner
(@ Providing relevantanswers
(©) Noneofthese
159. One of the following is a target group for the

{6 elling te product nspecificareas

(© Allof these
One of the methods s.,.u..mu._n-n..b-
(@ Towatch TV seri

(®) Todiscuss with other sales persons.
(© Tomonitor media outlets
(@ Allofthese

(@) Noneof these

(@) Allthe customers
() Allthe educated customers
(© Allthe computer educated customers
(@) Only creditors
© Allofthese
190, Innovation mean—
(@) Product Designing
® New ideas
© Impulse
(@) Both(a) and (B)

L R
ST

(©) Buyingmore products
(@) Buying more companies
(© Noneof these
185, Effective marketing helps in—
(@) Developing new products
®) Creatinga competitive.
(©) Building demand for products .
(@ Allofthese
(©) None of these
186, A Call in Marketing means—
(@) Tophone the customers
() Tovisitthe customers
(9 Tovisitthe marketingsite
(@) Tocall on prospective customers
(@) Noneof these
187.  Delivery Channel means—
(@) Maternity wards
&) Handing over the products o thebuyers
© 2

(@)

(b) Students

(c) Only poor students

(@) Students having promising educational track
record

© Allofthese
192, Service after sale is not the function of—
(@) Marketing staff

Seller

®)
(©) Directorof the company
(d) Employees of the company
(€) Allof the above are wrong
193, If done through. the rural marketing would
more effective.
@) Fairs
®) Village airs
(©) Door to door campaign
(d) Allof these

@ AII of these




(6) Extra profiton the same cost
(©) Extraworkby seller
(@) Allof these

(© Easy
(@ Hasnoroleinmarketing
]

(© Allofthese
. A good seller should 198.

qualities? @

(2) Devotiontothework () Core Groups monitering

() Submissive. (9) Employees:

(© Sympathy. (@ Allofthese

(@ Allofthese (@) Noneof these.

(©) Noneofthese 199. The aim of successful marketing is—
@

(@) Ruralp ©

©® ©

(O Itissheer wastage oftime (@ Allofthese

(@ Allarewrong (© Noneofthese

(© Allare correct 200. becomes....

Planned-cost service means— (@) Very difficult

(@) Costly products ® Dull
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